
!"#$%&'"(#)* #+,&, -)'.%+"$,/,  .,0&1/ .2 %"+34#)0  %+'.
0+%+5$"%.,$.5 ,.,$"6), - 5&$&%&* &# 7,$+#+-3.-+"$,/.
83/ &9%"1"3"#./ #7(#)0 :+'+%.$&- #"&'0&1.6) ,3"17;<." 1+##)":

!"#$%& Q
=&3.>",$-& (.15&,$., 9"%"5+>.-+"6&* #+,&,&6 2+ "1.#.?7 -%"6"#..
O')>#&, -)%+(+"$,/ - 57'.6/>+,.

O'(") *+#%," -".%-/,012/#3%4% ."5%0" Hmt
@+,,6+$%.-+"$,/ 5+5 ,766+ :"&1"2.>",5&* (.3. :"&6"$%.>",5&*) -),&$)
6"(17 7%&-#/6. (.15&,$. . 9&$"%4 #+9&%+, -&2#.5+;<.0 .2-2+
-#7$%"##":& $%"#./ 9%. 9%&0&1" (.15&,$. - $%7'+0, #+,&," .
,&&$-"$,$-7;<.0 :.1%+-3.>",5.0 9%.,9&,&'3"#./0.
@+,,>.$)-+"$,/ 9& ,3"17;<"* A&%673":

Hmt = Hg + ∆pc - 71&3%#,.%4% #,%8'"

Hg = :"&1"2.>",5.* 9"%"9+1 #+ -,+,)-+#.. (Hga) + :"&1"2.>",5.*
9"%"9+1 #+ 9&1+>" (Hgp).
∆pc = ,766+ 9&$"%4 #+9&%+ - ,.,$"6", 9&37>+"6+/ #+ &,#&-" ,3"17;<.0
1+##)0:
- 8.+6"$% ,  13.#+ . 5&#,$%75?.&##)* 6+$"%.+3  -,+,)-+;<"*  .

9&1+;<"* $%7' (,6. $+'3.?7 1 #+ ,$%. 460).
- =&3.>",$-& . $.9 5&3"# #+ 97$. 9%&0&(1"#./ (.15&,$. . .,9&3427"6)"

:.1%+-3.>",5." 9%.,9&,&'3"#./, $+5." 5+5 1&##)" 53+9+#) , A.34$%&6,
&$,"5+;<." 2+,3&#5., ,$&9&%#)" 53+9+#+, -&26&(#)" A.34$%) (,6.
$+'3.?7 2 #+ ,$%. 460).

- B.9 (.15&,$. (",3. C$& #" -&1+), $"69"%+$7%+, -/25&,$4 . 71"34#)* -",.

O,&'&" -#.6+#." ,3"17"$ &'%+<+$4 #+ 6+#&6"$%.>",5.* #+9&% #+
-,+,)-+#.. Hga + ∆pc asp: : 1+##&" 2#+>"#." 1&3(#& ')$4 ,&9&,$+-3"#&
,& -,+,)-+;<"* ,9&,&'#&,$4; #+,&,+.
8+##+/ ,9&,&'#&,$4 NPSHr &9%"1"3/"$,/ 5+5 +',&3;$#+/ -),&$+ #+9&%+
#"$$&, $%"'7"6+/ #+ -,+,)-+#..; 1+##&" 2#+>"#." &9%"1"3/"$,/ 9& 5%.-&* - 2+-.,.6&,$. &$ %+,0&1+.   83/ C$&* ?"3., 9&,3" -)'&%+ #+,&,+
#+ &,#&-" $%"'7"6)0 %+,0&1+ . #+9&%+, 9& -&26&(#&,$., - ?"#$%" 5%.-&*, #"&'0&1.6& -)9&3#.$4 9%&-"%57 9& 79%&<"##&* A&%673":

10 6 ± Hga - ∆pc asp >  $%"'7"6&" 2#+>"#." NPSH + 0,5 6

Hga - C$& 9"%"9+1 6"(17 ,-&'&1#)6 7%&-#"6 -&1) . -+3&6 #+,&,+; ",3. #+,&, #+0&1.$,/ #.(" 7%&-#/ -&1) C$&$ 9+%+6"$% .6""$
&$%.?+$"34#&" 2#+>"#.".
∆pc asp .  9%"1,$+-3/"$ ,&'&* ,7667 &,$+;<.0,/ 9&$"%4 #+ -,+,)-+#.. 1-70 $.9&-: %+,9%"1"3"##)0 ($%7')) . 5&#?"#$%.%&-+##)0 (53+9+#+,
5&3"#+ . $.1.);

D,3. 9%&-"%5+ 1+"$ &$%.?+$"34#)* %"2734$+$, 2+>+,$7; 1&,$+$&>#& &:%+#.>.$4 %+,0&1 , 9&6&<4; 2+1-.(5. #+ 9&1+>", >$& 9&2-&3/"$
9&37>.$4 &9$.6+34#)" %+'&>." 7,3&-./ #+,&,+ '"2 5+-.$+?...

D,3. (.15&,$4 .6""$ $"69"%+$7%7 -)E" ,%"1#"* &9$.6+34#&* (&5&3& 20°C), -,+,)-+;<+/ ,9&,&'#&,$4 #+,&,+ ,#.(+"$,/. 8+##)"
.26"#"#./, .,0&1/ .2 -,+,)-+;<"* ,9&,&'#&,$. #+,&,+ 7 6"$%&- 9%. #&%6+34#&* $"69"%+$7%", 9&5+2+#) - $+'3.?" 3 #+ ,$%. 461.

9:;. ;<!<=9:!>?9>=> @<?O?OA

F&,3" &9%"1"3"#./ %+,0&1+ Q . &'<":& 6+#&6"$%.>",5&:& #+9&%+ ,.,$"6) Hmt, 13/ &9%"1"3"#./ 9&$%"'3/"6&* 6&<#&,$. N #+,&,+ ,3"17"$
.,9&342&-+$4 ,3"17;<7; A&%6737:

N =  Q x H x γ - 5G$

367 0 ηp

4&/:
Q = @+,0&1, -)%+("##)* - 57'.6/>
H = #+9&% - 6
γ = 71"34#)* -", (.15&,$. (-&1+ - 1 5:/57'.16)

ηp = =F8 #+,&,+ (#+9%.6"%, 9%. =F8 #+,&,+ 68% ηp = 0,68)

H+,&,), 5&$&%)" &')>#& ,&"1.#"#) , C3"5$%&1-.:+$"3/6., %+'&$+;$ - %"(.6" 2900 &'./6.#. (9%. 1-709&3;,#&6 1-.:+$"3" , >+,$&$&* 50 I?)
.3. 1450 &'./6.#. (9%. >"$)%"09&3;,#&6 1-.:+$"3" , >+,$&$&* 50 I?).
B"6 #" 6"#"", &#. 6&:7$ %+'&$+$4 . - 1%7:.0 %"(.6+0 9%. 7,3&-.., >$& ,&'3;1+;$,/ .0 %+,>"$#)" 9%"1"3).
J3"1&-+$"34#&, 9%. .26"#"#.. >.,3+ &'&%&$&- $"0. 0+%+5$"%.,$.5. #+,&,&- 6"#/;$,/ 9& ,3"17;<.6 9%+-.3+6:

- @+,0&1 9%&9&%?.&#+34#& ,&&$#&E"#.; >.,3+ &'&%&$&-: Q2 = Q1 x (n2:n1)

- H+9&% 9%&9&%?.&#+34#& >.,37 &'&%&$&- - 5-+1%+$": H2 = H1 x (n2:n1)2

- F&$%"'3/"6+/ 6&<#&,$4 9%&9&%?.&#+34#& >.,37 &'&%&$&- - 57'": N2 = N1 x (n2:n1)3
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C01-/0 0"#2/," &8) *+'%0" B/.,0%'/7.%4% ."#%#"

?8D2"E < F"..+/ #1#,/-+

- Q (%+,0&1) = 42 57'.6/>
- Hga (:"&1"2. 9"%"9+1 #+ -,+,)-+#..) = 3,5 6
- Hgp (:"&1"2. 9"%"9+1 #+ 9&1+>") = 39 6
- G,+,)-+;<+/ $%7'+ 5 6 , 1.+6"$%&6 DN 100 66 , &1#.6

5&3"#&6 . 1 1&##)6 53+9+#&6
- F&1+;<+/ $%7'+ 70 6 , 1.+6"$%&6 DN 80 66 , 1 ,$&9&%#)6

53+9+#&6, 1 2+1-.(5&* . 3 5&3"#+6. '&34E&:& %+1.7,+.

Hg = Hgp + Hga = 39 + 3,5 = 42,5 6 (:"&1"2. 9"%"9+1 - ,.,$"6")

∆pc =  ,766+ 9&$"%4 #+9&%+.

G,+,)-+#..
5 6 $%7') ∆ 100 pc = 0,12 6
1 5&3"#& pc = 0,045 6
1 1&##)* 53+9+# pc = 0,46 6

F&1+>+
70 6 $%7') ∆ 80 pc = 5,25 6
1 ,$&9&%#)* 53+9+# pc = 0,5 6
1 2+1-.(5+ pc = 0,05 6
3 5&3"#+ pc = 0,09 6

A#/4% ∆pc = 6,5 - 

L>.$)-+/, >$& %+,>"$ ')3 ,1"3+# 13/ #&-)0 $%7', ,3"17"$
1&'+-.$4 15-20% #+ .2#&, . &'%+2&-+#." &$3&("#.*, - %"2734$+$"
>":& &'<." 9&$"%. ∆p '717$ ,&,$+-3/$4 9%.6"%#& 8 6.
B+5.6 &'%+2&6, &'<.* 6+#&6"$%.>",5.* #+9&%, 5&$&%)*
1&3("# &'",9">.$4 #+,&, '71"$ %+-#/$4,/:

Hmt = Hg + ∆p = Hgp + Hga + ∆pc = 39 + 3,5 + 8 = 50,5 6"$%&- -,":&.
M&(#& -)'%+$4 #+,&, NM 50/20AE (,6. :%+A.5 #+,&,+). 

?8D2"E G F"..+/ #1#,/-+

- Q (%+,0&1) = 42 57'.6/>
- Hga (:"&1"2. 9"%"9+1 #+ -,+,)-+#..) = 3,5 6
- Hgp (:"&1"2. 9"%"9+1 #+ 9&1+>") = 39 6
- G,+,)-+;<+/ $%7'+ 5 6  , 1.+6"$%&6  DN 100 66  , 1

2+1-.(5&* . 1 ,$&9&%#)6 53+9+#&6
- F&1+;<+/ $%7'+ 70 6 , 1.+6"$%&6 DN 80 66 , 1 ,$&9&%#)6

M3+9+#&6 . 3 5&3"#+6. '&34E&:& %+1.7,+.

Hg = Hgp - Hga = 39 - 3,5 = 35,5 6 (:"&1"2. 9"%"9+1 - ,.,$"6")

∆pc = ,766+ 9&$"%4 #+9&%+.

G,+,)-+#..
5 6 $%7')  Ø 100 pc = 0,12 6
1 ,$&9&%#)* 53+9+# pc = 0,5 6
1 2+1-.(5+ pc = 0,05 6

F&1+>+
70 6 $%7') Ø 80 pc = 5,25 6
1 ,$&9&%#)* 53+9+# pc = 0,5 6
1 2+1-.(5+ pc = 0,05 6
3 5&3"#+ pc = 0,09 6

A#/4% ∆pc = 6,5 -
L>.$)-+/, >$& %+,>"$ ')3 ,1"3+# 13/ #&-)0 $%7', ,3"17"$
1&'+-.$4 15-20% #+ .2#&, . &'%+2&-+#." &$3&("#.*, - %"2734$+$"
>":& &'<." 9&$"%. Dp '717$ ,&,$+-3/$4 9%.6"%#& 8 6.
B+5.6 &'%+2&6, &'<.* 6+#&6"$%.>",5.* #+9&%, 5&$&%)*
1&3("# &'",9">.$4 #+,&, '71"$ %+-#/$4,/:

Hmt = Hg + Dp = Hgp - Hga + Dpc = 39 - 3,5 + 8 = 43,5 6"$%&- -,":&.
M&(#& -)'%+$4 #+,&, NM 50/20BE (,6. :%+A.5 #+,&,+).

Hga

Hgp

Ø 80 Tuyau

70 m Longueur

Ø 100 Tuyau

5 m Longueur

Hg

4.93.180.1

A+'%0 B/.,0%'/7.%4% ."#%#"

458

4.93.100

Hga

Hgp

Hg

Ø 80 Tuyau

70 m Longueur

Ø 100 Tuyau

5 m Longueur

<) !"'%," * 5%8%7/.11 *+H/ D0%*.) *%&+

G) !"'%," 5%& 41&0"*812/#31- ."5%0%- G,+,)-+#."

8&##)* 53+9+#  G,+,)-+#."

Ø 100 B%7'+

5 6 83.#+

Ø 80 B%7'+

70 6 83.#+

Ø 100 B%7'+

5 6 83.#+

Ø 80 B%7'+

70 6 83.#+



A?COIOJ<9:KL@M: =OICO@:@9M  FKN J>F!<AK>O:?=PQ ?>?9:IM 9!RGM

F%..+E 38"5". # S18T,0%- - B93&$#.$"34#&" 9%.,9&,&'3"#.", 7,$+#+-3.-+"6&" #+ #.(#"6 5&#?" -,+,)-+;<"* $%7'). J37(.$ 13/
9%"1&$-%+<"#./ -)0&1+ -&1) .2 $%7') . #+,&,+ 9%. &,$+#&-5" ,.,$"6). 8&3("# ')$4 9&:%7("# - (.15&,$4 #+ :37'.#7 7,$+#&-5., 5&$&%+/
6&:3+ ') &'",9">.$4 >"$57; %+'&$7 . 9%"1&$-%+$.$4 -&26&(#7; 5+-.$+?.;.
@"5&6"#17"$,/ 7,$+#+-3.-+$4 $+5(" 9&93+-5&-)* -)53;>+$"34 13/ +-$&6+$.>",5&* &,$+#&-5. #+,&,+ 9%. ,#.("#.. -&1) #.("
7,$+#&-3"##&:& 7%&-#/.

?,%5%0.+E 38"5". - B,$+#+-3.-+"$,/ #+ 9&1+;<"6 %+,$%7'" #+,&,+, >$&') .2'"(+$4 &'%+$#&:& 9&$&5+ 9%. -#"2+9#&* &,$+#&-5" '3&5+.
F%"19&>$.$"34#& 7,$+#+-3.-+$4 6&1"3. , -&2-%+$#&* -#7$%"##"* 9%7(.#&* . &'$;%+$&%&6 , #+5&#">#.5&6, 5&$&%)" ,#.(+;$ -&21"*,$-./
:.1%+-3.>",5.0 71+%&-.

U"&*173" - ,3"17"$ 7,$+#+-3.-+$4 $+5(" 2+1-.(57, 5&$&%+/ 1+"$ -&26&(#&,$4 %+2'.%+$4 #+,&,, #" ,3.-+/ -&17 .2 ,.,$"6) . ,37(.$ 13/
97,5+ '3&5+ . %":73.%&-5. %+,0&1+.

9!9GM
B%7') -)'.%+;$,/, .,0&1/ .2 ,5&%&,$. -&1). O9$.6+34#&* ,>.$+"$,/ ,5&%&,$4 1,5 6 - ,"57#17 #+ -,+,)-+#.. . 3 6/,"5. #+ 9&1+>". J3"17"$
&'%+<+$4 &,&'&" -#.6+#." #+ %+26"% -,+,)-+;<"* $%7'), >$&') .2'"(+$4 9&$"%4 ,.3) #+9&%+ ., ,3"1&-+$"34#&, &'",9">.$4 6+5,.6+34#&
-&26&(#7; -,+,)-+;<7; ,9&,&'#&,$4 #+,&,+. �$+ $%7'+ 1&3(#+ ')$4 +',&3;$#& :"%6"$.>#&* . #" .6"$4 &'%+$#&:& ,5+$+ 5 %+,$%7'7 #+,&,+,
>$&') .2'"(+$4 &'%+2&-+#." .3. 2+1"%(57 -&217E#)0 972)%45&- .3. 6"E5&-.
G," $%7') 1&3(#) .6"$4 ,-&" &$1"34#&" 5%"93"#.", >$&') #" &5+2)-+$4 1+-3"#." ,-&.6 -",&6 #+ %+,$%7') #+,&,+.

?GO> A !<GO9: @<?O?OA

?'%E     A%V-%7.") 50121."

@"#%# '8%310%*". M&("$ ,37>.$4,/ 9&,3" 9%&,$&/ &9%"1"3"##&* 13.$"34#&,$. .2-2+ -#7$%"##":& &5.,3"#./.
J3"17"$ %+2'3&5.%&-+$4 #+,&,. G #"'&34E.0 6&#&'3&>#)0 #+,&,+0 C$& 6&(#& ,1"3+$4 ,
9&6&<4; &$-"%$5., .,9&3427/ ,9"?.+34#7; #+,">57 #+ 2+1#"6 5&#?" -+3+.
G ,37>+" '&34E.0 '3&5&- ,3"17"$ -&21"*,$-&-+$4 #+ -+3 .3. #+ C3+,$.>#7; ,&"1.#.$"34#7;
>+,$4.

@"#%# ./ ."5%8.)/,#) G #+,&," . -,+,)-+;<"* $%7'" .6""$,/ -&2170.
H"9&3#&" #+9&3#"#." . 9&3#&" &$,7$,$-." #+9&3#"#./.
G&26&(#&" 9&9+1+#." -&2170+ >"%"2 -"#$.3/, ,3.-#)" .3. #+9&3#.$"34#)" 9%&'5.,
793&$#"#./ . ,+34#.5..
8&##)* 53+9+# #" 9&3#&,$4; 9&:%7("# - (.15&,$4 .3. 2+,&%"# :%/24; .3. $-"%1)6
67,&%&6.
G),&$+ -,+,)-+#./ 9%"-)E+"$ -,+,)-+;<7; ,9&,&'#&,$4 #+,&,+.
H"9%+-.34#&" #+9%+-3"#." -%+<"#./.
H"9%+-.34#&" >.,3& &'&%&$&-.

@/&%#,",%2.+E 0"#$%& B%7') . 9%.,9&,&'3"#./ .6";$ ,3.E5&6 6+3"#45.* 1.+6"$%, >$& 9%.-&1.$ 5 >%"26"%#)6
9&$"%/6 ,.3) #+9&%+.
@+'&>"" 5&3",& $&%6&2.$,/ .#&%&1#)6. 9%"16"$+6., 9&9+-E.6. 6"(17 -#7$%"##.6.
5+#+3+6..
@+'&>"" 5&3",& .6""$ 5&%%&2.; .3. ,3&6+#&.
F&-"%0#&,$. 5&#$+5$+ %+'&>":& 5&3",+ . 5&%97,+ #+,&,+ .2#&E"#) - %"2734$+$" $%"#./.
F%.,7$,$-." - -&1" :+2+ .3. >%"26"%#+/ -/25&,$4 (.15&,$. (",3. C$& #" -&1+).

WD- 1 *1'0"B1) * ."#%#/  G%+<+;<+/,/ >+,$4 %+2'+3+#,.%&-+#+, 9&1E.9#.5. .2#&E"#).
H+,&, . $%7') 2+5%"93"#) #" 1&,$+$&>#& 9%&>#&.
J3.E5&6 #.25.* %+,0&1 13/ 1+##&:& $.9+ #+,&,+.
@+'&$+ , 5+-.$+?."*.  

F*14",/8T 5/0/40D7/.  B"0. 0+%+5$"%.,$.5. #+,&,+ ,3.E5&6 -),&5." &$#&,.$"34#& 9+%+6"$%&- ,.,$"6).
H"9&1-.(#)" . 9&1-.(#)" &%:+#) 2+3.9+;$ .2-2+ #"1&,$+$&>#&* ,6+25..
J5&%&,$4 -%+<"#./ ,3.E5&6 -),&5+/.
H"9%+-.34#&" #+9%/("#." 9.$+#./.
N3&5 «#+,&,-1-.:+$"34» -)%&-#"# 93&0&.
O.15&,$4 ,3.E5&6 $/("3+/ . "" -", 9%"-)E+"$ %+,>"$#)" 9+%+6"$%). 
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9"'81B" 1
C%,/0) #18+ ."5%0" * #,"8T.+$ ,0D'"$

9"'81B" 2
C%,/01 #18+ ."5%0" * 3%8/."$, V"&*173"$, &%..+$ 1 #,%5%0.+$ 38"5"."$ * #-

460

Q @+,0&1 HL F&$"%. ,.3) #+9&%+ - 6 #+ 100 6 v = J5&%&,$4: 6+5,. 1,5 6/,"5. #+ -,+,)-+#.. . 3 6/,"5. #+ 9&1+>"

Q m3/h 1 12 18 30 42 60 90 120 180 240 300 360 420
Tuyau    

G       Ø mm Q l/min 16 200 300 500 700 1000 1500 2000 3000 4000 5000 6000 7000

G 1 DN 25 2,7 - - - - - - - - - - - -

G 1 1/2 DN 40 - 23 - - - - - - - - - - -

G 2 DN 50 - 8 17 - - - - - - - - - -

G 2 1/2 DN 65 - 2,1 4,2 12 22 - - - - - - - -

DN 80 - 0,8 1,6 4,2 7,5 15 - - - - - - -

DN 100 - - 0,55 1,4 2,4 5 11 20 - - - - -

DN 125

HL

m/100m

- - - - 0,9 1,8 4 6,5 15 - - - -

DN 150 - - - - - 0,6 1,5 2,5 5 8 14 - -

DN 200 - - - - - - 0,4 0,6 1,3 2 3,5 4,6 6,5

DN 250 0,4 0,7 1,1 1,6 2

DN 300 - 0,3 0,45 0,7 0,9

9

150

--

14

4

1,2

-

-

-

-

-

24

400

-

-

28

8

2,8

0,9

-

-

-

36

600

-

-

-

17

6,5

2

-

-

-

48

800

-

-

-

28

10,5

3,5

1,2

-

-

6

100

7

2,2

0,6

-

-

-

-

-

3

50

21

1,8

0,5

-

-

-

-

-

- - - - - -- - - ---

- - - - - - -

- -

-- - - ---

-G 1 1/4 DN 32 0,7 - - - - - - - - - - - -- - -225,5

0,6

2,5

1,5 2,5

1 1,4 2,5 3,4

0,7 0,95 1,6 2,1 3,3

0,6 1,1 1,4 2 3,2

v

m/s
0,95 1,4 2 2,7 4

0,9 1,4 1,7 2,7 3,5 4,8

0,8 1 1,6 2 2,6 3 3,5

1 1,3 1,6 2 2,3

0,9 1,25 1,4 1,6

1,9

1,25

0,75

3,2

2

1,25

0,8

3

2

1,25

4

2,6

1,6

1,1

1,35

0,8

0,5

1,7

0,7

0,4

0,35 2,11

4

α

0,4

0,5

0,6

0,7

0,8

0,9

1,0

1,5

2,0

2,5

3,0

3,5

4,0

4,5

5,0

0,43

0,67

0,97

1,35

1,7

2,2

2,7

6,0

11

17

25

33

43

55

67

0,52

0,81

1,2

1,65

2,1

2,7

3,3

7,3

14

21

30

40

52

67

82

0,71

1,1

1,6

2,2

2,8

3,6

4,5

10

18

28

41

55

70

90

110

1,0

1,6

2,3

3,2

4,0

5,2

6,4

14

26

40

60

78

100

130

160

1,2

1,9

2,8

3,9

4,8

6,2

7,6

17

31

48

70

93

120

160

190

0,11

0,18

0,25

0,34

0,45
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